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Расположите реплики так, чтобы получился связный диалог. Выберите один
из предложенных вариантов ответа.
 

A.  We could go by boat. It's the most comfortable way to travel.
B.  Yes, but I'm not sure about the best way to get there.
C.  You're right. And if we book a cabin, we'll get a good night's sleep and we'll be

as fresh as daisies when we get there.
D.  Well, if we go by car it will take us two days. But it's cheaper than the plane.
E.  Are we going to Jersey for my sister's wedding?
F.  That's settled, then.
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